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= 40,327,838
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< 16,759,792
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= 5,487,197
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A EEM(Z20)-2E 16,000 20,000 A 4,000
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= 4,000
< 4,000
01 At 2teltl 8,000 10,000 A 2,000
oL Hal S LA 8,000
= 4,000
= 4,000
202 O4dl 8,000 10,000 A 2,000
= 4,000
< 4,000
01 =L 4 Hi 8,000 10,000 A 2,000
Ot H =LA 8,000
= 4,000
= 4,000
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= 858,997
< 110,442
308 XXM SOIA 969,439 359,864 609,575
= 858,997
< 110,442
01 XML EES 969,439 359,864 609,575
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= 858,997
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= 228,000
< 68,400
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308 XHXIGHH SO0l & 856,015 940,058 N 84,043
= 658,472
& 197,543
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OES=+3H| 150,000
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202 oddl 4,600 4,600 0
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Xl 11,000
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Xl 11,000
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AT AIE (H2)(=21) 8,698,412 8,841,614 A 143,202
Xl 7,707,454
< 990,958
403 MtXISHH S =0l & 8,698,412 8,841,614 A 143,202
X 7,707,454
= 990,958
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= 10,493
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= 2,469
S 1,059
AFITHOH L K2l SOl (AATERSE Z o E) (= 12) 562,017 331,842 230,175
= 321,156
= 240,861
308 XXl EHH SOl A 562,017 331,842 230,175
= 321,156
< 240,861
01 AXSGHBLELS 562,017 331,842 230,175
O AHAMEH & 20l & 562,017
= 321,156
< 240,861
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202 Odl 11,000 11,000 0
01 = LH 4 Hi 11,000 11,000 0
OMEUEXE 11,000
MUY ZAES 2,982,000 2,945,000 37,000
308 XXM SO A 2,982,000 2,945,000 37,000
01 IXNHHBNEES 2,982,000 2,945,000 37,000
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O&= M DXt 1,026,000
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301 gt L= 5,000 5,000 0
1M1IIEBELSS 5,000 5,000 0
OdEXads FAUE 243 5,000
AE20EMH 25 L 22 (L) (=0)-3H 4,000 10,000 A 6,000
= 1,600
< 2,400
201 Lt 4,000 10,000 A 6,000
= 1,600
= 2,400
02 =224l 4,000 10,000 A 6,000
OL=ZEd&s 29 4,000
= 1,600
< 2,400
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= 142,600
< 64,170
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S 114,503
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< 158,021
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= 4,291,315
< 1,931,095
308 XXM SOIA 6,222,410 6,032,795 189,615
= 4,291,315
< 1,931,095
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OM=HZ 0 & & SHTH 6,222,410
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01 At 22l 27,490 27,490 0
ORAN2Y AtR22ltl 27,490
202 04 Hl 12,000 9,600 2,400
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